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INSTRUCTIONS TO CANDIDATES: OAHrIIEZ NMPOZ TOYZ AIATQNIZOMENOYZ:

For each question, choose and circle the best answer A, B, C, or D

MNa kKaBe epwTNON, ETTIAESTE KAl KUKAWOTE TN KAAUTEPN atravinon A, B, ' 4 A.
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1. Why is a balance sheet (statement of financial position) prepared?
A. to show debtors and creditors at a certain date
B. to show how much profit a business made
C. toshow the financial position of a business at a certain date
D. to show the total debits equal the total credits
1. Marti eToipaldere o looAoylopog (KAaTAoTACN XPNMATOOIKOVOMIKAGS BE0NG);
A. Ta va 5ei§oupe TOUG XPEWOTES KAl TOUG TTIOTWTEG O€ pia dedopévn

oow>

nuepopnvia

MNa va dei§oupe 600 KEPDOG £XEI N EMIXEIPNON HOG

lMNa va 3€ioupe TN OIKOVOUIKK KATAOTAON TG ETTIXEIPNONG HOG OE
M1a SeSopévn nuEpOpNVia

MNa va d€ioupe 6TI 01 CUVOAIKEG XPEWOEIG ICOUVTAI HE TIG
OUVOAIKEG TTIOTWOEIG

In which book of original entry will credit notes received be recorded?

purchases journal
purchases returns journal
sales journal

sales returns journal



2e o160 BIBAio apXIKAG £yypOa®NG HIA TTICTWTIKA ONMEIWON TTou
THPAME Ba eyypagEi;

HuepoAdyio ayopwv

HuepoAdyio ETICTPOPWY aAyopwV
HuepoAdbyio TwARocewyv

HuepoAdyio emoTpopwV TTWARCEWV

>owp

Which transaction would be recorded in the business’s journal?

A. cash withdrawn by the owner for his personal use
B. payment of rent by direct debit

C. purchase of a new motor vehicle on credit

D. return of goods to a credit supplier

Moia cuvaAAayn 0a eyypa@ei 6To NUEPOASYIO TNG ETAIPEING;

A. AvAAnyn HETPNTWYV YIO TTPOCWTTIKN XPR O TOU ISIOKTATN
B. MNMAnpwpA evoikiou PE dpeon Xpéwon

. Ayopd VEOU QUTOKIVATOU PE TTiIOTWON

A. EToTpo®n ENTTOPEVNATWY OTO TTPOUNBEUTA

A trader supplies the following information:

Capital at start of the year €40.000

Capital at end of the year €60.000

Drawings during the year €12.000

Additional capital introduced during the year €20.000
What is the net profit for the year?

A. €20.000
B. €28.000
C. €32.000
D. €12.000

‘Evag éutropog pag Sivel TIG TTI0 KATW TTANPOQPOpPiEGS:

Apxik6 KepdAaio €40.000

TeAikd kepdAaio €60.000

MpoowTikég avaAnypeig €12.000

EmimrpboBeTo ke@aAaio Katd Tn didpkeia Tou €roug €20.000.
Moéoo ival To eTACI10 KABapo kKEPSOG;

A. €20.000
B. €28.000
. €32.000
A. €12.000



The owner of a business takes goods valued at €25 for his own use.
This was not recorded in the accounts. What is the effect of this on
net profit?

A. overstated €25
B. understated €25
C. overstated €50
D. understated €50

O 1810KTATNG MHIOG ETIXEiIPNONG TAPE eptropelpara agiag €25 yia
TTPOOWTTIKA TOU Xpriorn. AuTO dev £x&l eyypa@Ei OTOUG Aoyaplaooug.
Mwg éxel eTTnpedoel autd To KaBapo KEPDOG;

Y1epTignOnke kartd €25
YtmroTiyRdnke kara €25
YtmepTipnOnke kara €50
YtmroTiyRdnke kara €50

G

Which of the following is recorded on the credit side of a creditor
account?

A. credit purchases

B. discount received

C. payments to creditors
D. purchases returns

Molo atrd Ta akéAouba TTIOTWVETAI OTO AOYyapIaoHO €VOG TTPOUNBEUTN;

Ayopég pe TioTwon
EKTITWOEIG EICTTPOKTEEG
MAnpwpéG OTO MOTWTA
EmioTpo@ég ayopwv

B>

Harry provides the following information for the month of January
2013:

Balance on debtors account 1 January 2013 €25.000
Balance on debtors account 31 January 2013 €26.000
Receipts from debtors €80.000

Discounts allowed €800

Cash sales €15.000

Bad Debts written off €600

What is the amount of his credit sales for January 2013?

A. €80.800
B. €94.000
C. €81.200
D. €82.400



O Xdpng Trapéxel TiIg ak6Aoubeg TTAnpo@opieg yia Tov lavoudpio 2013:

YtméAoitro xpewoTtwv 1 lavouapiou 2013 €25.000

YmoéAoitro xpewoTtwyv 31 lavouapiou 2013 €26.000

Eiotmpdgeig amd Xpeworteg €80.000

Exmrrwoeig xopnyoupeveg €800

NMwARoeig o€ perpnra €15.000

AtTwAcgieg atrd xpewoTteg €600

Moio €ival To TT006 TWV TTWANCEWV PE TTioTWOoN Tou lavouapiou 2013;

€80.800
€94.000
€81.200
€82.400

pow2

Which transaction would be recorded in the sales ledger?

A. payment by cheque to credit supplier
B. payment received from a debtor

C. sale of goods for cash

D. purchase of machinery on credit

Moia cuvaAAayn 0a eyypa@ei 0To KABOAIKO TTWARCEWY;

MANnpwpMA PE eTITAYR O £Eva TTPOUNOEUTN
Eiompagn amé éva xpewoTn

MwAnon eJTOPEVUATWY TNG HETPNTAG
Ayopd piag pnxavng HE TicTwon

POm»>

From the following list of balances find the working capital as at 31
December 2012.

Non-current (fixed) assets €60.000
Interest receivable in advance €1.000
Loan from J.John (repayment 2015) €10.000
Inventory (Closing stock) € 2.000
Sundry creditors € 5.000
Stock of stationery € 500
Trade receivables (Sundry debtors) € 9.000
Capital €57.000
Bank overdraft € 5.000
Cash in hand € 500
Bills receivable € 6.000
A. €9.000

B. €8.000

C.€12.000

D. €7.000



9. A6 Tn o KATW AioTa UTTOAOITTWV Vva Bpeite TO KEQPAAAIO Kivhong
oTig 31 Aekepfpiou 2012.

Mn-kukAo@opouv (Mayio) evepyntiké  €60.000

Tokol e1I0TTPAKTEOI TTPOKATARBOAIKG € 1.000
Advegio atré Tov J.John

(arrorrAnpwpR 2015) €10.000
TeAIkS atréBepa EPTTOPEUNATWV € 2.000
Aid@opol TIoTWTEG € 5.000
ATT60gpa ypa@IkAg UANG € 500
Ai1Gd@opol XpeWOTEG € 9.000
KegpdaAaio €57.000
Tpameliké Tapatpdafnyua € 5.000
MeTpnTd € 500
FpappdTIa EICTTPAKTEN € 6.000
A. €9.000
B €8.000
r. €12.000
A. €7.000

10. A trader instructs his bank to make a monthly payment of €100 to the
Insurance Company. Which term describes this instruction?

A. credit transfer

B. direct debit

C. personal cheque
D. standing order

10. 'Evag éutmropog €dwoe odnyieg otn TPAE(a TOU va TTANPWVElI KAOE
MAva otnv ac@aAioTikn etaipeia €100. lMoiog 6pog TepIypd@el auTh

TNV odnyiaq;

A. ThoTwTIKA pETa@opd
B. Apeon xpéwon

. MpoowrikA emiTAYN
A. ZtaBepn evroAn

11. A business maintains a full set of books of accounts. Where will the
purchases account appear?

A. general journal
B. general ledger
C. purchases journal
D. purchases ledger



11.

12.

12.

13.

Mia emixeipnon diatnpei oOAoKANPpwWHEVO TTAKETO AOYIOTIKWYV BIBAiwv.
2¢ 1rolio BiBAio Ba eppavioTei o Aoyapliaouog ayopwy;

Feviké nuepoAdyio

Fevikd KaBoAIKO

HuepoAdyio ayopwv
KaBoAiké ayopwv (MoTwTwv)

Bow>

The totals of the discount columns in a trader’s cash book were €50
debit side and €100 credit side. What entry will the trader make in the
discount received account?

A. €100 credit
B. €150 credit
C. €100 debit
D. €50 debit

To dBpoicpa TwV OTNAWV EKTITWOEIS £vOG Tapegiou ATav €50 oTn
XPEWOTIKA TTAgupd Kai €100 otn mIOTWTIKA TTAgupd. Ti gyypaen Ba
YiVEl OTO AOYOAPIOOHO EKTTTWOEIG EICTTPOAKTEEG;

A. €100 mrioTwon
B. €150 miocTwon
. €100 xpéwon
A. €50 xpéwon

The following was a list of Assets and Liabilities of a firm as at 31
December 2012:

Freehold Premises €80.000
Creditors €15.000
Debtors €25.000
Bank Overdraft € 8.000
Stock €10.000
Cash in hand € 2.000
Office Equipment €20.000
Bills Payable €10.000
Insurance paid in advance €1.000
Wages accrued due €1.500
Rent receivable unpaid €700

The firm’s Capital as at 31st December 2012 was:

A. €102.800
B. €114.200
C. €130.200
D. €104.200



13. Tho katw trapadéTtoupe Ta oToixeia Evepyntikou kai MaBnTikoUu piag
emixeipnong otig 31 Askeufpiouv 2012:

I516KTNTEG KTIPIOKEG eyKaTaoTdoelg  €80.000

MoTwrég €15.000
XpewoTeg €25.000
MaparpaBnypa € 8.000
ATTOO£pATA ENTTOPEUMATWV €10.000
MeTpnTd OTO TOMEIO € 2.000
ESomrAiopég ypageiou €20.000
Fpappdaria TAnpwTEa €10.000
Ac@daAioTpa TTPOTTANPWTEN €1.000
HuepopioBia opelAdpeva €1.500
Evoikia e10TTpaKkTéa aTrARpwTa €700

To kepdaAaio Tng emixeipnong otig 31 Aekeufpiou 2012 Arav:

A. €102.800
B. €114.200
r. €130.200
A €104.200

14. Anna provides the following information:

Sales €50.000
Cost of goods sold €25.000
Net profit €7.000

What are Anna’s operating expenses?

A. €18.000
B. €25.000
C. € 8.000
D. €22.000

14. H Avva pag TrapéXel TIG IO KATW TTANPOQopiEg:

NMwAnRoeig €50.000
Ko6oT106 TWV TTWARCEWV €25.000
KaBapd kEpdog €7.000

Méoa gival Ta AeiToupyikd £€§0da TnG Avvag;

A. €18.000
B. €25.000
r. € 8.000
A. €22.000



15.

15.

16.

16.

17.

A business with financial year end 30 of June, buys a non-current
asset on 1 January 2010 for €55.000. The estimated scrap value is
€5.000 and estimated life 4 years. Depreciation is charged on the
straight line method. On 30 of June 2012 the asset was sold for
€20.000. What was the Net book value of the asset?

A € 3.750
B  €31.000
C €23.750
D €12.500

Mia emixeipnon pe oikovouiké £€1og Trou Afyel oTig 30 louviou aydépaoce
€va pn-KukAo@opouv evepynTiko tnv 1 lavouapiou 2010 yia €55.000. H
evatropeivaoca agia €ivalr €5.000 kai n utmroAoyi{opevn {wn Tou 4
Xpoévia. H amdéofeon utroAoyifete pe tn otabepry péBodo. 2Ztig 30
louviou 2012 10 OTOIXEiO EveEPYNTIKOU TTWARBNKeE yia €20.000. MNMoéon
ATav n Kabapr agia Tou EvepynTIKOU;

A € 3.750
B €31.000
r  €23.750
A €12.500

Which one of the following ledger accounts is NOT a Nominal account?

A. Purchases

B. Advertising

C. Discount Received

D. Closing Stock (Inventory)

A1T6 TOUG 010 KATW Aoyapiacoug Trolog AEN gival ATroTeAeOUATIKOG
Aoyapiaopuoég.

A. Ayopég

B. Aila@nuiosig

. ExkmTwoeig Aaupavopeveg
A. Amofépara Eptropeupdrwy

Andreas keeps a petty cash book on the imprest system with a float
amount of €150. The book is balanced weekly and is restored on the
first day of the following week. Andreas petty cash expenses for a
week totalled €125. Which entries record restoration of the float
amount?

DR CR
A. cash book €125 petty cash book €125
B. petty cash book €125 cash book €125
C. cash book €100 petty cash book €100
D. petty cash book €25 cash book €25



17.

18.

18.

19.

19.

O Avdpéag XpnNOIMOTTOIEI TO OTABEPO CUCTNUA YIA TO MIKPO TOU TOEIO,
ME oTaBepd TT00O €150. To MIKPO TapEio e§loWVETAI KAOE ELOONAdA Kal
To Moo avoBewpeital KGBe Asutépa Tpwi. Ta éoda Tou MIag
eBOopadag nrav €125. Mg troia eyypaen 8a avabewpnoel To HIKPO TOU
TapEiO;

Xpéwon MiocTwon
A. Tapgio €125 Mikp6 Tapeio €125
B. Mikp6 tapgio €125 Tapeio €125
. Taueio €100 Mikp6 Tapgio €100
A. Mikpé Tapegio €25 Tapeio €25

Where should the total of the purchases returns journal be posted?

A. credit side of the cash book

B. credit side of the purchases returns account
C. debit side of the purchases returns account
D. debit side of the trading account

Mou KaTaypd@EeTal TO AOPOICHA TOU NUEPOAOYIOU ETTIOTPOPWY AYOPWV;

mioTwon Tou BiBAiou Tapgiou

TICTWON TOU AOYapPIaOHOU ETTIOTPOPEG AYOPWYV

XPEWOT TOU AOYyapIaoOU ETTIOTPOYPESG AYOPWV

XPEWOCT TOU AoyapIaCHOU EKPETOAAEUOEWG EPTTOPEUPATWYV

Pow>

Which transaction affects the amount of working capital?

A. cash paid into bank

B. cash paid to a creditor

C. purchase of premises on credit
D. purchase of stock on credit

Moia ocuvaAAayn eTnpeddel To KEQAAQIO KIVAOEWG;

Karafegon petpntwyv

MAnpwpMRA evog TTPOUNOEUTH O€ PHETPNTA
Ayopd akIVATWYV HE TTicTWOoN

Ayopd EUTTOPEUNATWYV HE TTIOTWON

Bow>



20.

20.

21.

21.

10

Andreas paid a cheque for €1.250 to loannis in full settlement of a
debt for €1.400. How will loannis record this transaction?

DR CR

A. Bank €1.250 Andreas €1.400
Discount allowed €150

B. Andreas €1.400 Bank €1.250
Discount received €150

C. Bank €1.250 Andreas €1.400
Discount received €150

D. loannis €1.400 Bank €1.250
Discount received €150

O Avdpéag mARpwoe pe emitayn €1.250 To MNdvvn yia e§6@Anon £vog
xpéoug €1.400. MNMwg Ba kataxwpnoel auti Tn ocuvaAAdayn o MNavvng
ota BiBAia Tou;

DR CR

Tpamela €1.250 Avdpéag €1.400
Exmrrwoeig xopnyoupeveg €150

Avdpéag €1.400 Tpamela €1.250
Exmrrwoeig Aaupavopeveg €150

Tpamela €1.250 Avdpéag €1400
Extmrtwoeig AauBavopeveg €150

Mavvn €1.400 Tpameda €1.250
Exmrrwoeig Aappavopeveg €150

Transactions recorded in the Sales Day Book are:

A. Sales of Goods for Cash

B. Sales of Non-Current (Fixed) Assets on Credit
C. Sales of Goods on Credit

D Sales Return from Debtors

210 Huegpnoio BifAio TwARoewy KataxwpouvTal ol cuvaAAayég:

A. TwANCEIG EPTTOPEUPATWYV TOIG HETPNTOIG

B. TMMwAARocegig un-KUKAO@OPOUV (TTAyI0) EVEPYNTIKWY CTOIXEIWV ME
mioTwOon

. NwANCEIg EPTTOPEUPATWY HE TTIOTWON

A. EmoTtpo@ég NMWARCEWY ENTTOPEVHATWYV



22.

22.

23.

23.

24,

24,

11

An item of revenue expenditure has been incorrectly treated as capital
expenditure in the accounts of a business. What effect will this have
on the accounts?

Net profit Assets
A. Decrease Decrease
B. Decrease Increase
C. Increase Decrease
D. Increase Increase

‘Eva AeiToupyikoé £€§000 KaTd AGBOG TO XEIPIOCTAKATE CAV KEQAAAIOUXIKO
£€€o0do. Ti emidpaon gixe auté oToug Aoyaplaopoug;

KaBapd kéEpdog | ZToixeia
Evepynrikou

A. Meiwon Meiwon
B. Meiwon Augnon
r. Augnon Meiwon
A. Augnon Augnon

At the end of Helen’s financial year her tenant owed one month’s rent.
How will this be shown in Helen’s final accounts?

Profit and loss account Balance sheet
Expense Revenue Asset Liability
A. \ \
B. \ \
C. \ \
D. \ \

210 TEAOG TOU AOYIOTIKOU £TOUG, £VOG £VOIKOG XPWOTA £va MAVA EVOIKIO
otn EAévn. Mwg Ba ep@avioTei oToug TEAIKOUG AoyaplaoHoUsg TnG
EAévng;

Aoyaplaocudé ATTOTEAECHATWYV looAoyiopo
"E€0da ‘Ecoda Evepynmika Madnrikd
A. V V
B. V v
r. v v
A v v

What does NOT appear in a profit and loss account?

carriage inwards
carriage outwards
discount allowed
discount received

OOw»
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24. T AEN tmrapouoidderal oTo Aoyaplaoud atroTEAECUATWYV XPAONG;

MeTagopikd ayopwv
MeTa@opikd TTWARCEWV
EKTTTWOEIG XOPNYOUMEVEG
ExkmrTwoeig AauBavopeveg

POw»

25. A bad debt previously written off is recovered later in the same
financial year. The double entry to reinstate the debt in the accounts
would be:

A. credits the profit and loss account and debits the debtor’s
account

B. credits the bad debts recovered account and debit the debtor’s
account

C. debits the bad debts account and credits the debtor’s account
D. credit the bad debts account and debit the debtor’s account

25. Mia atrwAegia XpEoug TTou diaypa@PnKeE, EICTTPAXONKE HETAYEVECTEPO
oTo id10 AoyIOTIKO £€T0G. H SittAoypa@n yia erava@opd Tng atrwAsgiag
XPEOUG OTOUG Aoyaplaopuoug Ba givai:

A va moTwoEi oTO AoyapIaoHO ATTOTEAECHATWY Kal Ba Xpewbei oTO
Aoyaplaouod XPEWOTEG

B va moTtwoei oTo Aoyapliaouod £10TpdaeIg dlaypa@EIowyY ATTAITAOEWY
Kal 0a XpewBei 0TO AOYApPIOOHO XPEWOTEG

I va xpewBei oTo AOyapIaoHO ATTWAEIEG ATTO XPEWOTES Kal O
MOTWOEI OTO AOYUpPIAOUO XPEWOTEG

A va moTwoei 0 Aoyaplaoog ATTWAEIEG ATTO XPEWOTES Kal Ba
XPEWOBEI 0 AOyapIaCHOG XPEWOTEG

26. Accrued expense would be shown on the statement of financial position
(balance sheet) as:

A. a current liability
B. a current asset
C. a fixed asset
D. drawings
26. O@eIAdpeva £€§0da Ba eppavioBoUV OTn KATACTAON XPNMATOOIKOVOMIKNG

0éong (1Ic0Aoyioud) WG:

KUKAOo@opoUV TTadnTiko
KUKAOQOpPOUV EVEPYNTIKO
MN-KUKAo@opouUvV (Trdylo) evepynTikd
TTPOOWTTIKESG AVAARYEIG

L



27.

27.

28.

28.

29.
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Capital expenditure is:

A. money brought into a firm by its proprietor

B. expenditure incurred to finance the day-to-day operations of a firm

C. expenditure incurred on the acquisition or improvement of non-
current (fixed) assets

D. none of the above

KepaAalouxikn datrdvn ivai:

A. To o006 TToU EICEQPEPE OTNV ETTIXEIPNON O ETTIXEIPNUATIOG

B. H datmrdavn mou XpnuatodorTei TIg KaONUEPIVEG AEITOUPYIEG TNG
EMIXEipNONGg

. Hdamrdvn 1Tou yivetal yia Tnv ardoktnon f tn BeATiwon Twv pn-
KUKAO@QOpPOUV (TTayiwv) oToIXEiWV

A. Kavéva amro Ta mio Tavw

A firm purchased ten (10) items on credit at a catalogue price of €200
each, less 20% Trade Discount, and entitled to deduct a cash discount
of 5% if it pays for them in full within 14 days of the invoice date.

If the firm pays within the above two week period, it will have to pay:

€1.520
€2.000
€1.600
€1.680

oow>

Mia emixeipnon ayépaoe déka (10) Tepdxia pe mioTwon, kéotoug €200
TO KaOéva, peiov Eptropikn ‘ExkmrTwon 20%, Kal HeE SIKAIWHO TAOPEIOKAG
EKTTTWOoNg 5% av e§o@Anocel oAGKANPoO 10 TTOOO péoa ot 14 pépeg atrod
TNV NUEPOMNVIA TOU TIHOAOYiOuU.

Av n emixeipnon €§o@Anoel péca oTnv TTEPiIodo Twv duo edopddwy,
0a mpétrel va KatafdAel To TTooo:

A. €1.520
B. €2.000
r. €1.600
A. €1.680

Which one of the following pairs of ledger accounts are real accounts?

A. Premises and rent payable

B. Cash in hand and cash at bank
C. Capital and debtors

D Advertising and interest received



29.

14

Moié amdé Tta akéAouBa dJevyn Aoyaplacuwyv Egival TTPOAYHATIKOI
Aoyapilaopoi;

oW

AKivnTa Kal evoikia TTAnpwTéa
MeTpnTd Kai TpaTreda
Ke@dAalo Kal XpEWOTEG

Alapnpuioeig kal £€00da a1Té TOKOUG

30. A motor van costing €15.000 has an estimated scrap value of €1,000. It is
to be depreciated at 40% per annum using the reducing balance
method. What is the charge for depreciation in the second year?

30.

OOw>»

€6.000
€3.360
€3.600
€5.600

‘Eva kaivoUpylo autokivnTo KOoTtoug €15.000 £xe1 utroAoyi{opevn
utmroAsippatikl adia €1.000. Na amrooBeocOsi

Xpnoigotroiwvtag tn @Bivouca pédodo. Ti eival n amrdédofeon yia 10
OeUTEPO £T0G;

>om>

€6.000
€3.360
€3.600
€5.600

ME TTO0O00TO 40%



